
Quest ce que le cadeau  C' - ? ( )Quel nombre se trouve dans chaque cadeau?
31 - 16 = 28 - 25 = 31 - 20 =40 - 21 = 50 - 25 = 43 - 24 =35 - 17 = 26 - 6 = 13 - 8 =12 - 2 = 18 - 15 = 31 - 8 =19 - 8 = 45 - 20 = 31 - 25 =24 - = 19 26 - = 16 29 - = 532 - = 14 26 - = 12 11 - = 533 - = 11 38 - = 16 16 - = 324 - = 4 24 - = 15 9 - = 423 - = 5 25 - = 13 28 - = 22- 4 = 7 - 13 = 7 - 14 = 20- 2 = 18 - 15 = 4 - 25 = 6- 6 = 11 - 25 = 23 - 21 = 20- 12 = 17 - 22 = 23 - 2 = 17- 10 = 3 - 23 = 16 - 2 = 15
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Quest ce que le cadeau  C  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
31 - 16 = 15 28 - 25 = 3 31 - 20 = 1140 - 21 = 19 50 - 25 = 25 43 - 24 = 1935 - 17 = 18 26 - 6 = 20 13 - 8 = 512 - 2 = 10 18 - 15 = 3 31 - 8 = 2319 - 8 = 11 45 - 20 = 25 31 - 25 = 624 - 5 = 19 26 - 10 = 16 29 - 24 = 532 - 18 = 14 26 - 14 = 12 11 - 6 = 533 - 22 = 11 38 - 22 = 16 16 - 13 = 324 - 20 = 4 24 - 9 = 15 9 - 5 = 423 - 18 = 5 25 - 12 = 13 28 - 6 = 2211 - 4 = 7 20 - 13 = 7 34 - 14 = 2020 - 2 = 18 19 - 15 = 4 31 - 25 = 617 - 6 = 11 48 - 25 = 23 41 - 21 = 2029 - 12 = 17 45 - 22 = 23 19 - 2 = 1713 - 10 = 3 39 - 23 = 16 17 - 2 = 15
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